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QUESTION 1

In the process of AC dual link building, what information does the AP organize?
A. AC IP address

B. AC active and standby priority

C. AC dual link feature switch

D. AC MAC address

E. AC model

Correct Answer: ABC

QUESTION 2

The maximum transmission power of indoor WLAN products stipulated by international standards is 100mw, which is
equivalent to?

A. 1dBm

B. 10dBm
C. 20dBm
D. 30dBm

Correct Answer: C

QUESTION 3

What is the correct statement about WLAN channel planning?
A. The United States can plan 1-13 channels at 2.4 GHz

B. Infrared interference needs to be considered when planning
C. Radar interference needs to be considered during planning
D. Avoiding signal interference when planning

Correct Answer: CD

QUESTION 4

Which of the following is the best security method?
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A. WEP certification
B. WPA2-PSK certification
C. WPA2-EAP certification
D. MAC certification

Correct Answer: C

QUESTION 5

Which of the following is not a way to increase the range of coverage signal strength?
A. Adjust the AP position

B. Reduce the transmit power

C. Adjust the antenna angle

D. Increase the transmit power

Correct Answer: B

QUESTION 6

The following APs for indoor placement scenarios have (AB), APs with indoor distribution scenarios have (C), and APs
with outdoor coverage/bridge backhaul scenarios have?

A. AP 6010DN
B. AP 7110DN
C. AP 6310SN
D. AP 6510DN

Correct Answer: D

QUESTION 7

Which of the following functions is not a function of Huawei WLAN Planning Tool?
A. AP calculator

B. AP positioning

C. WLAN signal simulation

D. Export the bill of materials
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Correct Answer: B

QUESTION 8

Which of the following certifications can achieve fast roaming?
A. Share-key

B. WPA+PSK

C. WPA2+802.1x

D. WPA2+PSK

Correct Answer: C

QUESTION 9

In the project, the two points are separated by 4.5km. In order to realize the data return between the two points, what
information does the engineer need to collect?

A. Bandwidth requirements

B. Obstacle information between two points
C. 2.4G channel usage between two points
D. 5G channel usage between two points
E. Terminal type

Correct Answer: ABD

QUESTION 10

Which of the following is the correct description of the CAPWAP chain-breaking business?

A. CAPWAP broken link service keeps the controller required to be directly connected to the network.
B. The CAPWAP broken link service keeps the controller required to be a side-by-side network.

C. CAPWAP broken link service keeps request forwarding mode is direct forwarding

D. The CAPWAP chain-breaking service keeps new users supporting all authentication methods online.

Correct Answer: BC

QUESTION 11
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Which of the following statements about agile distributed solutions is correct?
A. AD9430-12DN can be extended by switch to access up to 24 remote access units
B. AD9430-24DN can be extended by switch to access up to 24 remote access units

C. AP9430-12DN is generally recommended to be placed in the corridor, AD9430-24DN is generally recommended to
be placed in the engine room

D. AD9430-24DN does not support POE power supply

Correct Answer: AC

QUESTION 12

What are the advantages of Mesh deployment compared to WDS deployment?

A. Mesh deployment equipment costs less

B. Mesh supports redundant links

C. Mesh network can be deployed quickly and can dynamically increase network coverage
D. All APs in Huawei support Mesh features.

Correct Answer: BC

QUESTION 13

The following figure is a typical WLAN networking diagram. Which of the following is correct about this figure?
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A. In the network diagram, the AP uses the tunnel forwarding mode. In the tunnel forwarding mode, the wireless user
service data is also encapsulated in the CAPWAP tunnel.The intermediate port is forwarded between the AP and the
AC. The port number of the tunnel is UDP 5246.

B. There are two types of tunnels for tunnel forwarding: control tunnels and service tunnels. Signal packets are
controlled by tunnels and data packets are taken from service tunnels.

C. The management data of the AP in the tunnel forwarding mode must be encapsulated in the tunnel of the CAPWAP
protocol, and the data traffic of the AP can be encapsulated in In a CAPWAP tunnel, it may not be encapsulated in a
CAPWAP tunnel.

D. The advantage of tunnel forwarding is that the data flow and the management flow all pass through the AC, which
makes it easier to implement security control policies for wireless users.

Correct Answer: BD
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QUESTION 14
What is the correct statement about the function of the WLAN Survey PAD survey tool?

A. The floor attribute is set for some basic information of this floor, which has great reference value for the installation
method of AP when planning later.

B. The surveying personnel select the AP hotspot to enter the test session, and locate the approximate location of the
interference source by moving the field strength change, and then input the distance. Can calculate the power of the
interference source

C. The classification of obstacles is mainly to draw the types of obstacles on the drawings.

D. The scale function is to let the surveyors know the size of the drawing scale more accurately.

Correct Answer. ABD

QUESTION 15
Without considering the MIMO gain, what is the correct description about EIRP?

A. In wireless communication engineering, EIRP is commonly used to measure the strength of interference and the
ability of the transmitter to transmit strong signals.

B. The product of the power supplied by the EIRP to the antenna of the radio transmitter and the absolute gain of the
antenna in a given direction

C. EIRP represents the transmit power of the AP
D. EIRP=P transmit power-Loss feeder loss + G antenna gain

Correct Answer: ABD
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